»whos

  Name         Size         Bytes  Class

  AOA          1x13           104  double array

  CHORD        1x18           144  double array

  Cl           1x13           104  double array

  Cm           1x13           104  double array

  N            1x2             16  double array

  NW           1x1              8  double array

  XLE          1x18           144  double array

  YLE          1x18           144  double array

  alpha        1x1              8  double array

  atwst        1x18           144  double array

  gtwst        1x18           144  double array

  ih           1x2             16  double array

  refwng       1x1              8  double array

Grand total is 136 elements using 1088 bytes

leaving 17670992 bytes of memory free.

AOA

AOA =

  Columns 1 through 12 

    -4    -2     0     2     4     6     8    10    12    14    16    18

  Column 13 

    20

»CHORD

CHORD =

  Columns 1 through 12 

     5     5     5     5     5     5     5     5     5     5     5     2

  Columns 13 through 18 

     2     2     2     2     2     2

»Cl

Cl =

  Columns 1 through 6 

  -2.0000e-01   5.0000e-02   2.5000e-01   4.5000e-01   7.0000e-01   8.5000e-01

  Columns 7 through 12 

   1.1000e+00   1.2500e+00   1.4000e+00   1.5500e+00   1.7000e+00   1.5500e+00

  Column 13 

   1.2000e+00

»Cm

Cm =

  Columns 1 through 6 

  -4.1700e-02  -4.1700e-02  -3.7500e-02  -3.3300e-02  -3.3300e-02  -3.3300e-02

  Columns 7 through 12 

  -3.3300e-02  -2.9200e-02  -2.9200e-02  -2.5000e-02  -2.5000e-02  -3.7500e-02

  Column 13 

  -5.4200e-02

»N

N =

    11     7

»NW

NW =

     2

»XLE

XLE =

  Columns 1 through 12 

     0     0     0     0     0     0     0     0     0     0     0    15

  Columns 13 through 18 

    15    15    15    15    15    15

»YLE

YLE =

  Columns 1 through 12 

   -10    -8    -6    -4    -2     0     2     4     6     8    10    -3

  Columns 13 through 18 

    -2    -1     0     1     2     3

»alpha

alpha =

     5

»atwst

atwst =

  Columns 1 through 12 

     1     1     1     1     1     1     1     1     1     1     1     1

  Columns 13 through 18 

     1     1     1     1     1     1

»gtwst

gtwst =

  Columns 1 through 12 

     0     0     0     0     0     0     0     0     0     0     0     0

  Columns 13 through 18 

     0     0     0     0     0     0

»ih

ih =

     0     0

»refwng

refwng =

     1

» 
